

Regras de Derivação

$$\textcircled{1} f(x) = -\frac{1}{2}x^4 + \frac{2}{3}x^3 - \frac{1}{2}x^2 + \frac{1}{4}$$

$$f'(x) = -\frac{1}{2} \cdot 4 \cdot x^3 + \frac{2}{3} \cdot 3 \cdot x^2 - \frac{1}{2} \cdot 2 \cdot x + 0$$

$$f'(x) = -2x^3 + 2x^2 - x$$

$$\textcircled{2} f(x) = x^2 + \sqrt{x}$$

$$f(x) = x^2 + x^{1/2}$$

$$f'(x) = 2x + \frac{1}{2}x^{\frac{1}{2}-1}$$

$$f'(x) = 2x + \frac{1}{2} \cdot x^{-1/2}$$

$$f'(x) = 2x + \frac{1}{2x^{1/2}} \Rightarrow 2x + \frac{1}{2\sqrt{x}}$$

$$\textcircled{3} f(x) = \overset{u}{x^3} \cdot \overset{v}{\cos x}$$

$$(u \cdot v)' = u' \cdot v + u \cdot v'$$

$$= (x^3)' \cdot (\cos x) + x^3 \cdot (\cos x)'$$

$$= 3x^2 \cdot \cos x + x^3 \cdot (-\text{sen } x)$$

$$= 3x^2 \cdot \cos x - x^3 \cdot \text{sen } x$$

$$\textcircled{4} f(x) = \underbrace{x^3}_u \cdot \underbrace{(2x^2 - 3x)}_v$$

$$\begin{aligned}(u \cdot v)' &= u'v + u \cdot v' \\ &= (x^3)' \cdot (2x^2 - 3x) + x^3 \cdot (2x^2 - 3x)' \\ &= 3x^2 \cdot (2x^2 - 3x) + x^3 \cdot (4x - 3) \\ &= 6x^4 - 9x^3 + 4x^4 - 3x^3 \\ &= 10x^4 - 12x^3\end{aligned}$$

$$\textcircled{5} f(x) = \frac{2x+5}{4x} = \frac{u}{v}$$

$$\begin{aligned}\left(\frac{u}{v}\right)' &= \frac{u'v - uv'}{v^2} \\ &= \frac{(2x+5)' \cdot 4x - (2x+5) \cdot (4x)'}{(4x)^2} \\ &= \frac{2 \cdot 4x - (2x+5) \cdot 4}{16x^2} \\ &= \frac{\cancel{8x} - \cancel{8x} - 20}{16x^2} \\ &= -\frac{20}{16x^2} = -\frac{5}{4x^2}\end{aligned}$$

$$\textcircled{6} f(x) = \left(\frac{2}{5}\right)^x = a^u$$

$$(a^u)' = u' \cdot a^u \cdot (\ln a)$$

$$\left(\frac{2}{5}\right)^x' = x' \cdot \left(\frac{2}{5}\right)^x \cdot \ln\left(\frac{2}{5}\right)$$

$$= 1 \cdot \left(\frac{2}{5}\right)^x \cdot \ln\left(\frac{2}{5}\right) = \underline{\left(\frac{2}{5}\right)^x \cdot \ln\left(\frac{2}{5}\right)}$$

$$\textcircled{7} f(x) = 2^{3x-1} \Rightarrow a^u$$

$$(a^u)' = u' \cdot a^u \cdot (\ln a)$$

$$\left(2^{3x-1}\right)' = (3x-1)' \cdot 2^{3x-1} \cdot \ln 2$$

$$= 3 \cdot 2^{3x-1} \cdot \ln 2$$

$$= \underline{2^{3x-1} \cdot 3 \ln 2}$$

$$\textcircled{8} f(x) = 3^x \rightarrow a^u$$

$$(a^u)' = u' \cdot a^u \cdot \ln a$$

$$(3^x)' = x' \cdot 3^x \cdot \ln 3$$

$$= 1 \cdot 3^x \cdot \ln 3$$

$$= \underline{3^x \cdot \ln 3}$$

$$9) f(x) = \text{sen}(x^2) = \text{sen } u$$

$$\begin{aligned}(\text{sen } u)' &= u' \cdot \cos u \\ &= (x^2)' \cdot \cos(x^2) \\ &= \underline{2x \cdot \cos(x^2)}\end{aligned}$$

$$10) f(x) = \cos\left(\frac{1}{x}\right) = \cos u$$

$$\begin{aligned}(\cos u)' &= u' \cdot (-\text{sen } u) \\ &= \left(\frac{1}{x}\right)' \cdot \left[-\text{sen}\left(\frac{1}{x}\right)\right] \\ &= (1 \cdot x^{-1}) \cdot \left[-\text{sen}\left(\frac{1}{x}\right)\right] \\ &= -1 \cdot x^{-2} \cdot \left[-\text{sen}\left(\frac{1}{x}\right)\right] \\ &= -\frac{1}{x^2} \cdot \left[-\text{sen}\left(\frac{1}{x}\right)\right] \\ &= \underline{\frac{1}{x^2} \cdot \text{sen}\left(\frac{1}{x}\right)}\end{aligned}$$

$$\textcircled{11} f(x) = \underbrace{(x^2 + 5x + 2)}_u^7 = u^7$$

Regra da cadeia.

$$\rightarrow f'(u) \cdot u'(x)$$

$$= (u^7)' \cdot u'$$

$$= 7 \cdot u^6 \cdot u'$$

$$= 7 \cdot (x^2 + 5x + 2)^6 \cdot (x^2 + 5x + 2)'$$

$$= 7 \cdot (x^2 + 5x + 2)^6 \cdot (2x + 5)$$

$$\textcircled{12} f(x) = \left(\frac{3x+2}{2x+1} \right)^5 \rightarrow u^5$$

$$= f'(u) \cdot u'(x)$$

$$= (u^5)' \cdot u'(x)$$

$$= 5 \cdot u^4 \cdot u'(x)$$

$$= 5 \cdot \left(\frac{3x+2}{2x+1} \right)^4 \cdot \left[\frac{(3x+2)' \cdot (2x+1) - (3x+2) \cdot (2x+1)'}{(2x+1)^2} \right]$$

$$= 5 \cdot \left(\frac{3x+2}{2x+1} \right)^4 \cdot \left[\frac{3 \cdot (2x+1) - (3x+2) \cdot 2}{(2x+1)^2} \right]$$

$$= 5 \cdot \left(\frac{3x+2}{2x+1} \right)^4 \cdot \left[\frac{\cancel{6x} + 3 - \cancel{6x} - 4}{(2x+1)^2} \right]$$

$$= 5 \cdot \left(\frac{3x+2}{2x+1} \right)^4 \cdot \left(\frac{-1}{(2x+1)^2} \right)$$

5

$$(13) f(x) = \frac{1}{3} (2x^5 + 6x^{-3})^5 = \frac{1}{3} u^5$$

$$f' = f'(u) \cdot u'(x)$$

$$= \left(\frac{1}{3}(u^5)\right)' \cdot u'$$

$$= \frac{1}{3} \cdot 5 u^4 \cdot u'$$

$$= \frac{5}{3} (2x^5 + 6x^{-3})^4 \cdot (2 \cdot 5x^4 - 6 \cdot 3x^{-4})$$

$$= \frac{5}{3} (2x^5 + 6x^{-3})^4 \cdot (10x^4 - 18x^{-4})$$

$$= \frac{5}{3} (2x^5 + 6x^{-3})^4 \cdot 2 \cdot (5x^4 - 9x^{-4})$$

$$= \frac{10}{3} (2x^5 + 6x^{-3})^4 \cdot (5x^4 - 9x^{-4})$$

$$(14) y = \ln(x^6 - 1) = \ln u$$

$$(\ln u)' = \frac{u'}{u} = \frac{(x^6 - 1)'}{x^6 - 1}$$

$$= \frac{6x^5}{x^6 - 1}$$

6

$$(15) \quad y = \frac{1}{\sqrt[5]{x^3-1}} = \frac{1}{(x^3-1)^{1/5}} = \underbrace{(x^3-1)}_u^{-1/5}$$

$$= f(u) \cdot u'(x)$$

$$= (u^{-1/5})' \cdot u'(x)$$

$$= -\frac{1}{5} u^{-6/5} \cdot u'(x)$$

$$= -\frac{1}{5} (x^3-1)^{-6/5} \cdot (x^3-1)'$$

$$= -\frac{1}{5} (x^3-1)^{-6/5} \cdot (3x^2)$$

$$= -\frac{3x^2}{(x^3-1)^{6/5}} = -\frac{3x^2}{\sqrt[5]{(x^3-1)^6}}$$

$$(16) \quad y = \cos(x^3-4) \Rightarrow \cos u$$

$$(\cos u)' = -u' \cdot \sin u$$

$$= -(x^3-4)' \cdot \sin(x^3-4)$$

$$= -(3x^2) \cdot \sin(x^3-4)$$

$$= -3x^2 \cdot \sin(x^3-4)$$

$$(17) \quad y = (x^3 - 6)^5 \Rightarrow u^5$$

$$= f'(u) \cdot u'(x)$$

$$= (u^5)' \cdot u'(x)$$

$$= 5 \cdot u^4 \cdot u'(x)$$

$$= 5 \cdot (x^3 - 6)^4 \cdot (x^3 - 6)'$$

$$= 5(x^3 - 6)^4 \cdot (3x^2)$$

$$= 15x^2 \cdot (x^3 - 6)^4$$

$$(18) \quad y = 3x^2 + 5$$

$$y' = 3 \cdot 2x + 0$$

$$\underline{y' = 6x}$$

